Chapter 6 Multiple Choice Review Problems
For Problems 4, 7,9, and 12 find the area of the region described:

4, The parabola y* = x and the line x + y = 2.
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7. The parabolas x = y* — 5y and x = 3y — y".
{A] E (B] 1?6}9 (C) % (D) % (E] none le these
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9. In the first quadrant, bounded below by the x-axis and above by the curves of y =
sin x and y = cos x.

(A) 2--2 (B) 2++2 C 2 (D 2 (E) 242

12. The curve of y = x' — 2x* — 3x and the x-axis.
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(D) 1A (E) none of these
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14. The area bounded by y=¢*, y=1,y=2, and x =3 is equal to

(A) 3+In2 (B) 3-3In3 (C) 4+in2

(D) 3—%]:1“2 (E) 4-In4

17. The area enclosed by the curve y* = x(1 — x) is given by

(A) 2[ x1—x dx (B) ZJ Nx—x'dx (C) 4[ Nx—x?dx

(D) = (E) 2r

18. The area bounded by the parabola y = 2 — x* and the line y = x — 4 is given by
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(A) J (6—x—x*)dx (B) J(2+A'+xl)dx' (C) J(ﬁ—x—xz)dx
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(4—x)dx (E) none of these
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(D) 2 j” (2—x) dx + J

For problems 25, 27, 29, 31, and 34, find the volume of the solid generated by rotating the given region around the
given line:

25, y=x%x=2,andy = 0; about the y-axis.
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27.
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34.
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39,

y=x"and y = 4 about the x-axis. -
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y =x*and y = 4; about the line y = -1.

(A) 4nJ‘{y+1]\f§dy (B) 211:L G-x)dx (O nJ (16 — x%) dox
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(D) 2n J (24 - 22 —xH dx (E) none of these
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y = 3x - x" and y = x; about the x-axis.

Wz 2
(A = J [(Bx—x9)* —x*] dx B) w J (9x* — 6x") dx
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(C) EJ ((Bx—x)* —x"] dx (D) JIJ' [(3x —x¥)* — x%] dx
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(E) = r (2x —x%)* dx

y=Inx, y=0,x=e¢; about the line x =¢.

(A) ﬁjr{e—x)lnxdx (B) EJ (e —e) dy (C) ZEJc[e—lnx}dx
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D) =« I (e? — 2e”' + e¥) dy (E) none of these
]

The base of a solid is the region bounded by the parabola x* = 8y and the line y = 4,
and each plane section perpendicular to the y-axis is an equilateral triangle. The
volume of the solid is

(A) % B) 6443 (C) 3243

(D) 32 (E) none of these

The base of a solid is the region bounded by y = e, the x-axis, the y-axis, and the
line x = 1. Each cross section perpendicular to the x-axis is a square. The volume
of the solid is
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